
 

Verze pracovního listu: 23.06.1 
 

 
Násobení přirozených čísel – řešení 

Úkol: Doplň tabulku.  

Varianta 1   Varianta 2 

PŘÍKLAD VÝSLEDEK PŘÍKLAD VÝSLEDEK 

458 . 10 = 4580 987 . 10 = 9870 

325 . 100 = 32500 655 . 100 = 65500 

162 . 1000 =  162000 999 . 1000 =  999000 

10000 . 89 =  890000 10000 . 74 =  740000 

100000 . 55 =  5500000 100000 . 22 =  2200000 

352 . 26 = 9152 112 . 63 = 7056 

9 . 6589 = 59301 5 . 4321 = 21605 

18 . 5 = 90 39 . 4 = 156 

466 . 8751 = 4077966 632 . 7413 = 4685016 

45 . 63 = 2835 12 . 96 = 1152 

654 . 321 =  209934 987 . 123 = 121401 

4 . 635 =  2540 7 . 643 =  4501 

68668 . 8 = 549344 14141 . 6 = 84846 

64 . 3641 = 233024 55 . 7796 = 428780 

46986215 . 0 = 0 44558833 . 0 = 0 
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